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Haudume ninowaob u nepumemp 0aHHbIX ouayp.
3anuwume peuweHue 8 8UOE 8bIpaeHUS.

3 - A

- 3 e« S=3a
P=2(3+a)

. S=3*7
P=2(3+7)

e S=ca
P=2(c+a)

« S=cd
P=2(c+d)




(c+d) - wnpunHa
(b+a) - onuHa
S=(b+a)(c+d)

S.=bc
S.=ac
S.=bd
S =ad

—
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S=S1+82+S3+S 2
S=bc+ac+bd+ad

(b+a)(c+d)=bc+ac+bd+ad




//\\
(b+a)(c+d)=bc+bdo+act+ad
N

N d®

UmobbI yMHOXUMBb MHO204J1€H Ha
MHO204JIEH,

HY)XXHO Ka)XXOblU 4J71eH 0OHO20 MHO204J1eHa
YMHOXUMb Ha KaXObIU 4YJ/1eH Opy2020
MHO204J1eHa
U rnoJ1y4YeHHbIe rnpou3eeodeHUs1 CII0OXUMb.



Mpumep 1: f\\

(3a-2b?)(4a*+b’)=
v
=3a4a‘+3ab’ +(-2b?)4a® +(-2b°)b’=

Mpumep =12a°+3ab’-8a%b?-2b°
(3X-3y+4z)(3x-5y)=
=9x? -15xy -9xy +15y? +12xz-20yz=

=9x°-24xy+15y°+12xz-20yz



No 726

1 sapuaHm

a) (X+6)(x+5)=
=x*+5x+6x+30= x*+11x+30
b) (a-4)(a+1)=

=g°+a - 4a -4 = a*- 3a - 4

a) (2-y)(y-8)=

=2y -16 - y*+8y=10y - y°-16

2 sapuaHm

a) (a-4)(2a+1)=
=2a’+a - 8a - 4=2a°-7a-4
b) (2y-1)(3y+2)=
=6y”+4y-3y-2=6y+y-2
c) (5%-3)(4-3x)=

=20x-15x°-12+9x=29x-15x°-12




CamocmosimernbHasi paboma

1 eapuaHm 2 eapuaHm
1. (x+4)(y-5) 1. (x-8)(y+6)
2. (5y?*+1)(3y?-1) 2. (3x%-1)(2x°+1)

3. (4a%+2a+1)(2a-1) 3. (1+2b)(1-2b+4b?)



//\\
(b+a)(c+d)=bc+bdo+act+ad
N

N d®

UmobbI yMHOXUMBb MHO204J1€H Ha
MHO204JIEH,

HY)XXHO Ka)XXOblU 4J71eH 0OHO20 MHO204J1eHa
YMHOXUMb Ha KaXObIU 4YJ/1eH Opy2020
MHO204J1eHa
U rnoJ1y4YeHHbIe rnpou3eeodeHUs1 CII0OXUMb.



//\\
(b+a)(c+d)=bc+bdo+act+ad
N

N d®

UmobbI yMHOXUMBb MHO204J1€H Ha
MHO204JIEH,

HY)XXHO Ka)XXOblU 4J71eH 0OHO20 MHO204J1eHa
YMHOXUMb Ha KaXObIU 4YJ/1eH Opy2020
MHO204J1eHa
U rnoJ1y4YeHHbIe rnpou3eeodeHUs1 CII0OXUMb.



